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BiEx ARE S BHEEE
% # s - BRHE By g {i & & 1

BRI 81,582,603 + 10,059, 479 91, 642, 082
EEAGE 81,582, 603
EERE 10, 059, 479
T O R 81,582,603 x 42.86% ( 30% + (1 — 30%) ) 34,966, 303
RHRME 91,642,082 + 34,966, 303 126, 608, 385
—REEEE 126, 608, 385 x 53.85% ( 35% + (1 — 35%) ) — 7,000 68,171,615
KBS 126, 608, 385 + 68, 171, 615 194, 780, 000
B FEZET 194,780,000 x 10.00% 19, 478,000
EBEREN 194, 780, 000 + 19, 478, 000 214, 258, 000




BEANRE KRB EEERBLEE

) R B - k& B % 8 B & 8 =

EHER 91, 642, 082
KIREZEEWHBES 91, 642, 082
KIREZEEWHBES 91, 642, 082
EEAGE 81, 582, 603
EEHMES 80, 837, 403
1 BEEMBER 24.00 3,098, 880 74,313,120

A
2 BEEWBER NEZEE HIARME 1.00 6, 464, 283 6, 464, 283

=
et 662, 400
JITEHE 24.00 21, 600 662, 400

3]
ek - |E 82, 800
4 EATHE 1.00 21, 600 27, 600

3]
5 hREHE 1.00 21, 600 27, 600

3]
6 RIR|E 1.00 21, 600 27, 600

3]
EEZE 10, 059, 479
EHAME 189, 826
1 EBAKE 1.00 789, 826 789, 826

=
BEERERRE 1,579, 653
BEERERRE 1.00 1,579, 653 1,579, 653

=




BEARE KAIREEEEHER

EEAEHBESHRUVEGES 2, 400, 000
) XX AEBESHRVEGES 1.00 2,400, 000 2,400, 000

=
EBERERE 130, 000
10 ¥%RERE 1.00 130, 000 130, 000

=
EEASHEEHRUBRES 5,160, 000
N ¥%XAEHEEHRUBRES 1.00 5,160, 000 5,160, 000
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&5 :1
& EBWEER 1A&4Y
% b g - KT By =1 B ) B E s &
EEENE A
A 1.40 55, 200. 00 71, 280
BLEHE HEMC
= 1.00 3,021, 600. 00 3,021, 600
& &t YE%8EH - 1.00A 3,098, 880. 00 3,098, 880
&5 :2
2 EBEBER N\EZTHE ELBEmE 14y
% b g - KT By £ B ) B E s &
BLEHE BERC (J\E)
A 2.10 755, 400. 00 1,586, 340
BLEHE HERC (J\E : 2285 ~278)
A 5.90 826, 770. 00 4,877,943
& &t YEZEEH - 1.00=¢ 6, 464, 283. 00 6, 464, 283
&5 :3
AF 0 TEE 1EHY
% b R - IRTE =-Xivs £ B i ) B E 5 &
EEENE A
A 0.50 55, 200. 00 217, 600
& &t YE%8E7 - 1. 00 27, 600. 00 27, 600
E5 4
& BRBE 1EHY
% g R - KT =-Xivs =1 B ff ) B E s &
EEENE A
A 0.50 55, 200. 00 217, 600
& &t YE%8E7 - 1. 00 27, 600. 00 27, 600
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EFS:5
& PREERE 1mEHY
22 [ g - KT B B = B i ® 5 wmE w =
EEEMNE HEmA
A 0.50 55, 200. 00 217,600
& it 1E%8EH : 1.00[E] 27, 600.00 217,600
&S .6
275 RERBE 1mEHY
22 [ g - KT B = B i ® 5 W E " =
EEREMNE HEmA
A 0.50 55, 200. 00 217,600
& it 1E%8EH : 1.00[E] 27, 600.00 217,600
&5 1
&% EHARE IEED
22 b3 B - IR =-Liv] B = B i ® 5 W E " =
EXARE
= 1.00 789, 826. 00 789, 826
& it 1E%8EH : 1.00=K 789, 826. 00 789, 826
&5 .8
&% EERERREE IEED
22 b3 B - IR =2 iv] B = i ® B W E " =
BEREARE
= 1.00 1,579, 653.00 1,579, 653
& it 1E%8EH : 1.00=K 1,579, 653.00 1,579, 653




R\K -/ A — PN e e E 3
59
2% EBARPEEHRVELRES IEED
22 [ g - KT B = B i ] wmE w =
54 kY 1500c ¢ 24&
A 24.00 100, 000. 00 2, 400, 000
& it 1E%8EH : 1.00=K 2,400, 000. 00 2, 400, 000
&S5 :10
2% EBHRERE 1KLY
[ g - KT B = B i ] W E " =
XBHRERERE
= 1.00 130, 000. 00 130, 000
& it 1E%8EH : 1.00=K 130, 000. 00 130, 000
&5 . 11
2% EBAEHEEHRUERES IEED
22 b3 B - IR =-Liv] = B i £ W E " =
EBASHESHRVERES e e
A 16. 00 208, 500. 00 3, 336, 000
EBASHESHRVERES L&A
A 8.00 228, 000. 00 1,824,000
& it 1E%8EH : 1.00=K 5,160, 000. 00 5,160, 000




